(W) F g

BAR IAEBGLARIN)

IE#EE (20105£ 9A)

pil

0}

=
2

FRERLZN

oo
= =4

(W B () F e

o 2 2 Q = 9 o ° IS 8 3 S S Q 2 = R 3 3 S 3 & 2 o
1 BoeHs =3 1 Boeqs 1 Boeqs
{ BezHe W H6ZH6 H6ZH6
j +—=m HS8ZHS6 —~ Lﬁ ——=m HS8ZHS6 n ——=m| HS8CHS6
HiZH6 X HiZH6 % HiZH6
HOZH®6 M M HOZHSG u HOZH®6
HSZH6 R , HSZH6 5 HSZH6
| BYZH6 2 BYZH6 _% _| mvers
—] HeeHe S —= — 1 HezHs ¥ "1 BHeeHs
HZZH6 ¥ .Mw HezHS6 B HezHS6
: = BizHs o = BizHs B = BizHe
HOZH6 & HOZH6 HOZH6
H6LH6 _ H6LH6 H6IH6
; H8IH6 1 H8IH6 H8lH6
: BLIHG m k HLIHG @ HLIHG
- ﬁ HILH6 Mr jﬂftﬂ Ilm HILH6 Mr J]m HILHG
HSLHG 2 | HSLHG 2 HSLHG
=1 Bvide S =1 arids & = avids

—_ ik — Bk —
HELH6 42 HELH6 40 HELHS®
HeIHG H HZIHG H HZIHG
HILEHG6 :w, HILEH6 :w, HLLH6
HOLH6 E_m__ HOlH6 E_m__ HOLH®
H6H6 % H6H6 % H6H6
== ggyo o1 . —— LG o =3l gsye
HLEG % HLEG % HLHG
H9H6 Iy HOKS6 In HOKS6
] HSH®6 B HGH®6 & HGH6
ﬂﬁ___m_ BYH6 ___@_H___._w__ HYH6 ﬂz_.mz HvH6
Ry HEHG Y HEH6 o o HEH6
m._pmm HZH®6 mmm HzHS6 ﬂm_._m BHZH6
HIHS6 HIH6 HIH6

2 $ 8 8 8 8 3 8 °© 8 8 8 8 8§ 8 - T 8 8 € 8§ =8’ =°

. - . : (U/ADu)sE B

CL D 22 (U/ADU) S



	空間線量率・降雨量の測定結果（９月）

